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Important Instruction to Examiners:-

1) The answers should be examined by key words & not as word to word as given in the model answers
scheme.

2) The model answers & answers written by the candidate may vary but the examiner may try to access
the understanding level of the candidate.

3) The language errors such as grammatical, spelling errors should not be given more importance.
4) While assessing figures, examiners, may give credit for principle components indicated in the figure.

5) The figures drawn by candidate & model answer may vary. The examiner may give credit for any
equivalent figure drawn.

5) Credit may be given step wise for numerical problems. In some cases, the assumed contact values
may vary and there may be some difference in the candidate’s answers and model answer.

6) In case of some questions credit may be given by judgment on part of examiner of relevant answer
based on candidates understanding.

7) For programming language papers, credit may be given to any other programme based on equivalent
concept.

Important notes to examiner




SUMMER - 15 EXAMINATIONS

02,’%0

Subject Code: | F3)) Model Answer Page No: - -~ /N
Q .NO SOLUTION MARKS
GB loenff’emdfculmra’ AX1$ Theooe

Statememnt = T Txx  cemo Iyy come the
memem+ s of mextia of c Plame <secHor

about the. +WO mutvally Feafemdiwley

Quyes,  (peehing at o' then the moment

O‘F l")’}t‘l/?f'HlCﬂ.T 122 ccpout the ’H”FTC’ C%CJ'S’

72  1eT 4o Plane  _eamd Patsimg thoovgh

the imtexsecton of XX e ¥ Y-V is

aivem b:/ o)™

\]/’ L2 = Toww & T\h}
( = X
w The Thf’rcl s ZZ 1S
zg callec] co¢  Poleor ARL

;.'Q_o T'Z-z = IP

Lp= Twx + Iy aim
ot
Where Lp= foleen rooment of - Tmearha
gis)

5

Oo*nsfc]% o h’cum%u}wa‘ gecHom ARC of

base hk A h1'dht h' a@s shown In ﬁ'{g}




SUMMER - 15 EXAMINATIONS

?;[%o

Subject Code: | 7321 Model Answer PageNo: /N
Q NO SOLUTION MARKS
I

b) COUNHT.... dhe Cemire C)!C 620 v|'HY o‘F m‘c_p/no,,),

OF\! be ot ca distance D’F/h/n foo
The befe Ap
S .
/ A
B
S\L / \ S
A WE
B %
M1 0F, tatamgle about the, hoafwr-}az/}
A% © PG? PeagsinNg  Ahsoovgl 119 cofed e
I5 glvem bY |
1
| 3
T ot o
R
£1_

C> [DU(H°|"+!HI_1.-4 \0+ '\'S\ the. P"dufofy'ﬂ"f D‘F
meteveal +o urmderqo @ comsidesable
defremcition  Uvrdes tensiom widheut olM
Lo Ptvae L

% | 1% is 4t poputy of mataria] dueto wWWith 1t Can e drawom inip

dhvnpaiyes
Mmadleability « = 4 (5 the P"Eer')f‘/T‘\”\f of < Al M
e 5 T ECa § T

X marerew) by yiTtve of Ohich (& 9et'g
f’erermrlmemﬂ\f ae—Fo’a-rY)fa by cornfre <)o,
Wr'thout "{OWO’&'& ax

M shedy .

x Tt oS dhe Popaly oF amataia| Jue o u)hml;) l’r cayy he iwoN Info



SUMMER - 15 EXAMINATIONS L’ f
subject Code: |72!] Model Answer Page No: .
[ Q .NO SOLUTION MARKS
LA
) Momi 'mol Beea Kima shvess Ackual Brewking shess

— -

@ 415 the "G“CQHO opqomd

(F) r+ 15 the frwrro of

cot  Boeakira Poimt., locedl ok Prrpakivyg A, oM
To the, ofmqn‘m&a{ ca0$5-| To the medutqcy
SecH CfndI:LAQ’eCQ : c0sy: Se tHomee| coyeq,
at fowctore.
@ Mo bk u'fnéw shess| @) Acka] b’om-.\m‘moq
16 lesS them vlbmate shess 'S biqhey | O1M
3ese, Aheoyy uibHmte. Shesy
© end comndihong  of columm. "
AN
7 Both ewnd hinied Y) Fov
2% Roth emd ‘Q)(‘EC' L—— L)
2N ave, emd ﬁ“&‘ed o o’(hw e hmqecJ L= 43
Y ome _emd fixeod awnd atrer emd free. |L-2L
N
F/(f‘) E Nyeo, bor2Y £0
S o
theny  Colomm eno 1S hindgeo - 1M
iy, (R YEn, B e
CERE
colomm emd 1S Frree. oM

Chem




SUMMER — 15 EXAMINATIONS OQJ 30

Subject Code: |731] Model Answer PageNo: /N
Q .NO SOLUTION MARKS
QLR

PWO'F "U'QS\-]j'Q.’Y)CE.‘ (U mumr)
5 B

The maximom emount, of shrairn

emengy eObich cam be stored by a
Mexn bey o @ boay O ' th out ex(eedffnﬂ Ol"’)

v
the elerhc imit 1§ cxlled w¢ Peoof

weallremce .

_
Umcwﬂ = 6 .\/} oM
2 e j
cWOhere - Shexs. Podoted «f-
| eleshe Limi

E= modilus of elashty

V = Volume of hody. /

@ anduﬂz\ | oe®) Soddem [oaQ
=
@ Shaesy (Hodu S ) 8hess  (fpdoted (S mw}
§ =4 g= O F
A A
@) Shess. due fo. Geedve] (D) Shess- dve o sod
locd 4 estes E loed) 15 hrgbe” apm.
4 heom gvddem loag) Abhaoy)  1he %@Oju&l

loa.




SUMMER - 15 EXAMINATIONS ° 6'} 30
subject Code: | 73]) Model Answer PageNo: . /N

Q NO SOLUTION MARKS

—m———

Q;I(F\)Ci)ﬂ&w}mpﬂoﬂ 1Y) hemﬂinn‘ 'Th?n“f\}

IS The @lasHe |yt ;‘g_ﬁﬁ’n& enCeeded. (\};2

1\/‘/\ The lheayy iNtally Q’\(T,U.ic-{h’f and uNSyyesced . £oy

l]./l\ eatyy longitudme) fhen s fre yo enpand oy conwaty I
iﬂt\LD(’M\dUr"\f hayn euuw'r oMy lavery. f_ggujr_/)

i\§ The vcsuliant Govee Ay Ayaniverse secian ok in

e IS Zenn.

L

Y2 The d etorrhntiors of e Secqonygue to-Sheax force W Neglecitd

d

) The m&%mrem{ of th¥ becy) 1s. bhomogernd

o089 comnd {sorwofiC,

i) Townsverse gechiom of the beam which

‘s plame pbedfcoe, Iowolf’rg O Rremain'g
pPrleme  aftey the bending

N f U
T Ahe beem 1§ Stwesged eel] uPYo

-

ProfosHona@l Wmif svdb thet i+ moust

obeyYs  Hooxes Jad,

P! Ahe Value of Youngs moclslug ((;)

‘e Qame  dm temsion)  amd im comfresda

ﬂ) Bemnclima eqqr)
B2 I L = ol M
o heve. L J R
= _Bemd. momenf = (Y.

=] VE m-lh.of Se O+ cobok the, nhA-« Pus.ﬁwf(_\/q
Ahwvgb the cem hfo@ o f Sechom, '

T—= Tup = Txx oM

€p = Bemc“'fr\(‘} chessr 17 1o Nerr cot cr,

Arsye g’ fom . N-A .




20
SUMMER - 15 EXAMINATIONS oF
Subject Code: ) 731

Model Answer

PageNo: /N
[ Q.NO SOLUTION MARKS
~ ot ...
ﬂii?@ d= Dstamce of the layery foomn +he N- A
of the. beeom oross- selHon
E = pmodous of. eJu—s:eH;::'Jr:} . % heam mmmif{!
R= Radive of cvwatvee of bent of’
becm
Fuy 5w
~
@ jﬂ/\ \ Ao
. ﬁ;#“‘* —> N‘Mlm\if——-—:jﬁ-d L2
S T e L
K b Y !
133 Qay
Comsiders Jm'lcnmaﬂcw SecHom of bage
b wvcd bight h s shown in Q'S. 4bhe
N. A, Posges. 4hwovgh the Cempoid 8’ @}
dvsk, blg foorn the. bawse,
JQay = S = S I, m
) A L bh BN
Tun = g i limf
I max. shewy Shesc. ocumr. cot @ distupce
\f’f/?_r o the _beoxe .
\lq‘.‘m T = [ chwﬁ} | M




o o SUMMER - 15 EXAMINATION

leadt yodluy Of  ayyeroy (s greaue dhoyy HS

Subject Code: (73] y Model Answer Page No: 08 /3o
Q NO SOLUTION MARKS
Q- -0 | DA
9 Wit _dneyaro  of ebfecive imady 4o dhe leady | @2M
| ayeat) divensimy of dhe  column 15 \ess dnam 12,
- Fhon 1y 1S called L short - Columin
oy
wonen e {E\R of ettecHut lemary 4o dne \easy
yadiug of guyakon is {5 sham A4S dhon v
caltd shoxy (oltumn
W l,n_n)o column
whu e Yans  ofF effthive \enoy do dhe | a2M

Moo WS Colled ol long  caluynn
U'l] T L] - I N | [




SUMMER - 15 EXAMINATION

Subject Code: Model Answer Page No: 09 /30N
Q NO I SOLUTION MARKS
b 36 mm
y
a-2(a) ,
7 d A , ;
! s50mm A YN
Somvy l Somm q; LG77!
o i
= Zovn
g = b e R e
L | :'_ A !
Tl Fornm J=73-2 mm
_ 0 /
B Lﬁ
i) AYeO_ Callar on
F\; - 230X =~ 1mnmw_?’
By -~ 120%wn =  Ttoo mw{L
Aaz. 30 x% = 200 yyyym 1, m
e /,LI'J
DY Disyany o) (onvoio oy dhe bas A A
MV, =~ Fo4+20+SY — 1S
.. 7T 7
o = Zn4 WO/ — Fo+10 = ROoMmwm
T T ot /rb 7
\“rlg = :7_0/;/'— QL W\YT\J
Z \7“ JSPO X 11S 4 200X 80+ VOO X3S
e |00 +2606F 200 |
R = 42722079 O M
i‘D T HY\I) 1-5)0
KN
Do = 20X - 2195y |8 mm' 1, ™
{ T2 | 2y
St ‘ L TRn [
hy=cess™ 5. T AlEE ! h=4133MW 1/2,!")
¥ A RE - 20ec 3Dt 1SOD v (0199
——/\fli P J’(Y'T l}l !]} — -t [ == o ' Ed ’\ ~ LA /_/
i A9 9 Ul..g m.m\tf = 01 AM
TN T = a6y /A 18 1BR1E : T




SUMMER - 15 EXAMINATION

Subject Code: Model Answer Page No: / of."BO N
Q NO SOLUTION MARKS
= ]30)11,037 8663 x (a2 1r1r\\nr)Z1 L,
Sz < ? 7 PR
J- -
Ay T G623 — /__Qr\-l- E)_\f
\ T
h;'L— G233 YN Lt
I)Q)g_ - _tr' -+ Q,. l./\.'.L‘
(& [2 V\Z s
— 86-4£2X18 ﬂ-uﬁax@,-%)
S 20884 x1a mm] ol ™M
- 3
Leg = BOX20- — 8?5‘-&%;03 mmﬂ 1, pn
2 12 i =
ha = 2290—90/ - 28 22y I, m
= ‘L P,
Ixxy = TetB,ns 8353 X I6® 4 HOOXEEWY
Yyxa — 29443 X168 myn? o) M

NotD

r_‘:)()(' &, TY){ + IVV-\—LIY)Q-
7 A 1 n,\bl I.\“-é

— ?-Q'J@){I‘t\(’—}- %(;-a;af}*m?’{- %-CJHLHX‘Iog

— ==

Dax = 6‘857“06 M’ J/LM




SUMMER - 15 EXAMINATION -
Subject Code: Model Answer Page No: )] }30 N
Q NO i | SOLUTION MARKS
et ] 6
- L Goomm
A —f _
L
/‘ [
/ © / GODMmmM
/(D /
/ B
7T 71
(> Ay caltultifon
Q} : GOOXGOO — !gnmnnﬂ'}m’?“'
2
A, - IBoooomm& }Lr\
600 ;
~ — - = ¢]
%T__‘zxeoo__QOomm ¥ = —= LOO M Yy) 75 M
\
Np = GO0t 099 — Roowywy M) = Tryga0 = goamyy | A M
2 73 S
o e nﬂ\,‘\‘ 9;,‘71;, e \80000)(%01- I 30000 XRa 0
ﬂq’l‘ HL [Re0O0O0 + |B000L
W EoO ) YY) ‘/M
il T
G- P (T MY l
e & 4
[Ty
1 A s v b DA MAAAD
4= 188000 ¥ (20000
__}: 200 My ‘/&M
oy M1 (@ y—% ans
|1/ X ~ 7N :
he = U-Y = 200— 200 — (00N |,
L B ) l L } i ' 7 /2/ ]
D= .~y = XJ00-200 — (oomw) ,




SUMMER - 15 EXAMINATION

Model Answer

Page No: J?-vaD N

Subject Code:
Q .NO SOLUTION MARKS
-2 (b
Lt Yy = ﬁ -1-9:'\_/\1 + [(1e T-L\A\r\'}:_l
CO]\‘( > == P, = = | =97, (==
2
'“R:OBMO@BL {30000 X 06 jJ‘_ TR
2 J T
oL
500)16003_1_ lRo0ao X a0 1
L (2 J
Jo
Tl T 2-82 %10 vy’ ol M
WS M1 (@D yey - asic
Tulx{ = M4 of h'lCUY\{]\( @ @ e +
ML of miomale D (@ bax
lyy = bhgj_ lo'ﬁrs ol M
e ™ [
)
Thgsfio bfh
S
, QODKG.OOS
==
6
gy = 4 N mmw a1l




SUMMER - 15 EXAMINATION

Page No: ﬁ/f%b

Subject Code: | 73| Model Answer
" Q.NO ¥ SOLUTION N MARKS
. T a_
A2 }} e v
C() 0/
J &=
P X
E 4/,
[=
Bast
A b/L b/z_}g
Y
pz bxd
h= d/z. § b
i/\ [ef lpn- Lease = Tet S\ }lb}’\,
7
— b3 pxdx(® LN
P S
= b63+ bhid 4> 1
Z 4
3
= bd X_L bd& ) I
[ | 1_, P
b 3ped e
!'LT 2
= Yki>
=
Tgasge= 9> o1
3
H} Mamonkt ot tnerria hony - Sise BB =
1k lgps TFsigpes TedAE /RYN
Jb> | N5 ]
TTapz 38° o)




SUMMER - 15 EXAMINATION

Page No: }Lf /30 N

Subject Code: 19311 Model Answer
Q SOLUTION MARKS
NO
Q-2- | Draw stress-strain curve for mild steel unoer tensile loading showing 04 M
c-ii) | Important points on it.
04 M

PARTIALLY PLASTIC 4
—_— - iy e
Uslz:‘r::;ek ELASTIC g S " True stress-
- .- E strain diagram
Yield
stress ‘

\ yConventionzl stress-strain
D diagram or nominal stress-
strain diagram

Linear range

|

5] 4 . I

o I

& T [

il B S rupture strength
: (it is the stress at
i failure)

0 | e
'ﬂ—(:; strain —— e




SUMMER - 15 EXAMINATION

Subject Code: |33)) 8 Model Answer Page No: | S/ 320
Q NO SOLUTION MARKS
Q\_“?x((l) He zfp
< e - —— - f—
2P a : 20
(=24 | o
o ™M V2 15 y M Y.
A A A A
—r_ Sty e —| sty
’LP i} L= | U
4 P-2P= Al wiusn Hp-op
“~— - —
N i & ol mMm
- " &
- —
» | 9YVen doda
i> ﬂs_i,uﬂl — 75 mW\Q’ ]}/ H'n; — 200MM |
AL;Mm__. . .
=AL &1 wdl, o o1 ™
Ty ]
g [ PLY A W Pl oI M
kg E/an k PE /A \ PE /’SHL\
5 — —2PX1000 P X (V0 2P xI000 o™
FsXWxX (04 | 200 X X161 FSXL0Y 0}
5 — 'LDOOP 2000 P 2400 P Q™M
R LTI
\SR10 U K10 (SX10°
) — —13333%)0 4 |4 2Rex1D = 13333 X (5] o1 M
) = —1:238 x1o1p
po-_= o}
1238 % (6 Y -
3! - )
P— —16asxio. N | (—ve Sign indicate P is o) M
P= J6-15KN Com PYLSSIVe I Ny




SUMMER - 15 EXAMINATION

Subject Code: |731| Model Answer Page No: _[§ /30
[ Q.NO | SOLUTION MARKS |
- A fe hO"E S«‘{_t_lgm —— o ==
Q-3 (h) rl e SO / { gINuY
- : 20 YN
51" . / P—S00 KN ]
3[ ] .» -V ‘
L F | © p L:Q. ES = 11,33?3
 noommy | Ec
3 — : :
£
NS .
i > 1> Total Qxed — LodX 400 = lc.oooommq" L,a/b')
> Pyea of syed = 4 x 17 ;41'?": 1256- (2 M- P )
: g v
i > Byt of contydC = Tory Qured — Pea oF Sked
- |eoo0D —125663
= =
= IS8 XISS ey 1M
| |\9 Gs — Es = A
Ge Ec
C:‘i == . = )5 £r‘ ‘ |
L S 13:32% 65z 1333 hey A S
V) p: PS 2 Pc
= AGS—Bé—‘i'—@&B-L— o) M
— 12336 X 125662 4 (o XISR.D4 X (O af ™
— (675082 X I8 G 415894 X 10> G
SODX[nQ’ — |#s-49 xm_o“"’ G o} M
L= Ssox(o oM
i 1 rf
17549 X \6°
Ce=2-8u9 N o} M
Gs= 1332 x23u49,
Gs= 37.979 Wlmm®- 61 M)




SUMMER - 15 EXAMINATION

Subject Code: |33 | Model Answer Page No: 17 /36
Q .NO $ ey =50 | m AL UTION MARKS
: ' =
Q-2 () / N - e
=
- So N o™
2 on= -

L~

Vi

62,/

5 Gr = C\f: 6= Sa N,l,m\.’h)-
So N lmm V= (Shx ISDX IS = 2-3%5 x (s° v
Ez2x1® Nfmm™ o j1- 23
SV - bxtbythe (=20 0]
Y, E
§V - SobWESD /0 o0 99 . o)™
V X105 L e
¥ xi0’ =
é\) = 5. ECY |Q":l__ oM
v
SV = @,«ssx{aH>}aQ2-%9x ot )
SV = 86668 mm o\ M
E=3K(—1) ol
I8I8% = %K(l*" ?_,xo-B?a) oM
K= 196:073 x1¢ N |mm2- 0| 1)
IR
r
=2 B0
Kz 8\)// = BLo- 68
S DGO L0
( 150>

K= 19¢-073% (0% N |mm7*'\




SUMMER - 15 EXAMINATION
Page No: 13 /30

Subject Code: |331) Model Answer
Q NO SOLUTION MARKS
0=4(4) given data,
L=]m = Yopomu)
P= 3 KN
to ap’ € .
d—- ] 2. Y% E-wo \J\N)[mmq‘ = 16X [SG rT°g
> shvess due 3o eninnd)  load (g,
ol M
L= P B0 3y g™ Formuid.
B Upxnt °2ﬂm;m
ol M
\}> Shess due jo  Tenpvattac S
b = EXL o1 M
= moxgo‘g;,( [g{xgag’;’w ol M
= G4 Nlmm® oM
i{f) Tora) Shyess€s (xeswtomd Ehessen )
Yesidual S = 79379+ €4 —
E = (43579 N|mm— o)




SUMMER - 15 EXAMINATION
Subject Code: Model Answer PageNo: (J /36 N
Q NO SOLUTION MARKS
Q-4 (b) ' A= Side of (Wbt — 25D Yy
5 (\ = S200mny
3 [®)
2 & |- - 0.8
" mm )
=y
6
b= by= (g = g-a%lg - 60-1& N]mmq" Q| M
20X 250
SV_— Crtbytbe (- 9p) 0| M)
\) ‘E ~ /
Q‘X:Cﬁuf"" f\?__;é
83__-—- 34 f}-—'Z_Ll\ (\!T"‘J
v E <
$200 _ X608 (i '2.3(07-8/\ o) vy |
(o) E
Q-")LQXIQL’ - 824 v(o.g)
T E /‘\ 4
23218 w5 = a2
E
E- 9z o)™
3-3W Y|cH
IF-— 274.038 H}mmt/ 01M
X 103 f
E= gk (f- 20 - 0| M
Vo . & - 9ZHnGBE R0 |
3C1- 10) 3 (1-2x0%)
K= 182:692 Nyl o\
X162
]




Subject Co

SUMMER - 15 EXAMINATION

de: |F31) Model Answer

SOKWN

Page No: MJSO

Q .NO

" " SOLUTION
LOKN Jm

MARKS

Q=4 (]

)

4
A t am -ﬁm';;)‘m T‘B
s 7 A
I/ Ltm /4 | ™ [V

/ . N\ A

SHpe-1Y  To  find dhe yeuerion

chy — Rp=So=12oxy AR
¢

&
hy= Rp-Su¥R0 +Rp

chi = Rp+Rg—130

1

|
Rp+rQa— 1286 ™M
' 3

4 =

eMp =0

—RAXSF SOR2 f wXuxX 4 —p
- ) ) . /2__. =

alM

[Re= Cikny| - [Rp= G i\

Step-11 To  contwiode  shean  foyee

1S &fp — —ELLKN
FA—o6% © 1

B> Stp=. —gokN
ifpsgrp‘: —&l—{-"')(},xl = -—lJ"Z,K\\!

W) s b= =L 450 = 8 KN

Sfp- a3 (lﬂ.ﬂc'l\
v J L= | /V/

Sfp~ g+60

oz2M

VSoFG= g8 KN




Subject Code: |F21)

Rt SUMMER - 15 EXAMINATION
Model Answer

Page No: H /30

Q.NO

SOLUTION

MARKS

SHp-

> B™M catudation

—

[]

N WV

Mp o0
mg"'a

\o
<

o caxr=(raxtx )

/'2_/

I% 7

= nh ke[ m

4
p=

)Mo= £1x) = €1 kN[

g™

7,

ShCp-

v) (D R BMD

w&ﬂ\“\) 15DK“\

N&Y\fﬁﬂﬂﬂ . B

02M

o
‘2:

P

Q2 M




wooBisjul woyj Jsuueogwe) Ag psjessuss

SUMMER - 15 EXAMINATION

Subjeet Code: 17311 Model Answer Page No: ?JL/ 30
ECw SOLUTION MARKS
35 .
c (4 BHN D
-t —_w»
A Kk B0 s 2777 %A
q b 9-6KH
S — +
. 2.1
SFED (KN &2
164 KN 12- 4K
28-8HN D
/ 20:SHp- D
o / \ o 2M
Bm:p (RN
’>5u};,oox,1‘ zewlions
cty Zi-’&f;o; RA+RR = 20 KAl
by Zmep=0 (Qox3)-8-RBxs =
s2 =588
= RB = 104 Kol im
YOS s Sk g

27 5. F. Cadeuleakoy

1)\@]’,5’;}' iu.ﬂ,} Ifr‘?a“f'of A =0
J U 7

WSE et jus? MW&;& A=z=Rp =396 KN
WSF et joat et ofc = 3-6 KN

\

Rt

LN e b i L



woo Bisjul wody Jauueagwen Ag pajelauss)

Sub; SUMMER - 15 EXAMINATION
ject : $ 2
Code‘jnij— Model Answer

Page No: ‘?'B) 30

Q .NoO

ey

SOLUTION

MARKS

/

——— VS F oA au&f /e% od B = -10°4 KA

Corg— LS E of just WXJ of ¢ = 96— 20 =-10°¢4 Ky

M

I

‘--—--_.&25_@ ,‘_hg ;}_fq.,,u ,;g; ~lo-44RB = o K. _|

-—-—____‘-——

— 3> Bm. cadadeloy

e B P nggfﬂ—o Hﬂm-*"'ﬁ-ﬁ-&oof

‘-

_‘——————L_B )’Y)af ru.‘:j_ /ﬁ’%b.«‘é [

Py = Blvd = 96x3 = 458 KA M)

——LiN> Amed just ikt o G

7
Mg = Pypr3- = 96K3-5 = J0-8HN 1T

inb> i

20 Kil)r?

A ; L) B/ 49 8 &
< L0 2rr78

/i Supfamf' sewfTonk
=4 Z%{—:o . Rpt+Rs = 20xio = Qoo gy-

b) =mep=o; (20%)0xS) - LLZ =0

" R = 125 k-

41m

SRy = 75 KN

A7 B1. calculdion

[p = Me =©

M0 = Ppyd — 20x4X D = 75X 4 — Rox4x2 =

Zokpyry 17

178 = KA%8— 20 X8xY = 76X8=AoX8X4 = =40 KN v7)




wo9oBisjul wolj Jsuueogwen Ag pajelsusn)

S“bje{!t Code:
Wil o

SUMMER - 15 EXAMINATION
Model Answer

Page No: E !5‘3‘0

| < SOLUTION MARKS |
SRy 2R o
D = N s
/- + \
/ Y _ Bmp |
il A\ -
AoMUN-7)
37 To Lecede point a:}ﬂ C'omba&&)'rxua-ﬁ@—)'
Lot 20 pe She Lstance -wfffébam A
EME-D = Im
M = ﬁﬁ)'?ff-ﬂoxxré = 752€— fox(z' - W
Egma/—}'nq Mx _to dhe zeso woe beNe. |
S Fese - (o =0
785 — (o2e =0
2 = 725 2270 (o0<2<8 )’ooinfE a1
[tex Aetwoeer? AJB
ng ﬁi} e N
Y LoUpa)
48
7 7. .
o I‘CD
R-M'n_fuﬂ-m)\‘,?okﬂ-ﬂ?
7 So;p’oa-arf >eaHioy)
Fr-—0 \ Ap~lo =0
e Z1] > 2m

Am=—1oknl - Ra=lomily)




~ wooBisjul wodj Jsuueogwen Ag psjelausan)

SUMMER - 15 EXAMINATION

Page No: 3 }30

Subject Code: 173 i oy X Model Answer
QNO SOLUTION . MARKS
o=y xe
8sbF)
A +1ox2-20 = (o QRIS
= N JNAH =0 KM, I
— 27 &m. Ca/;c»daﬁozz.
S WX BWat A = Y74 =0 KN - ]
> Bt lehef B =
Wl = —pngsRaud, & ~lend ==20 K
111> 8 et g;’g%i o 3 .
MBa = -mp-Rpx2 +26 = o KNI,
@’5‘37 K———.80 ror?———A Gbc
B ) A
Bz LS
MA- _ 7 R _
f.f:uzzz)(:b _yt ;5;57
B /
R St

Sipce. wetking is snensionec about FAe 7:}1"40{' o}f‘ becyr

Desurne Fhe  becrn o8 Simely Qbﬁﬂf@ﬂ?&'{j—fﬁ/ by .

gornfm 7 (1
1. i

7 Plai pnur? B0

m;z’qr =

2M

W% — 8ox 87— &do KD
= =




woo Bisjul woly Jauuedogwen Ag pajelsuss)

Subject Coge: 173411

SUMMER - 15 EXAMINATION
Model Answer

Page No:z_i_/ 30

Q.NO SOLUTION MARKS
TS
tm_Z,Lm I o-;f Seelion
| D Pesidion o:lﬁ NA: 3
—— | N = QW+2N2 _ (soxgox75 )+ (18ox20x 162D i
Drraa (150 X 20D 3¢ (80 X.20)
I Jp = 421-38 roro. i |
& e = 170 - 42186 = 4864 mmyr>. ‘
Tu}( ':-E,??p{;_{og_}_ js-nxgoﬁlfhgé-'7\5)2'7 + ) o0
a2
fraezd® ]
- |Rox 29 [RoX R0 (12/-36-)80)
12, '
- ¢ €
Txyx =. |2.27X6 * S-43Xio
Txy =— I7-56,x;o€mm4 imM
B> Masirnur  Bercling Sfress
o No»o vling  Berelind strese ep!;u,u},-"on
= dﬂ J 4.m
T ¢
Bt = T
i
Shpe = Chpxidb o 121:86 — 4422314 N loriT A1)
7-5Ex166 ( Tcm::i\&)
s |




Wwo9 BIsjul wolj Jauueogwen) Ag pajessuss)

Subject Code: 17371

QNO T

@¢ay |

—

el

SUMMER - 15 EXAMINATION
Model Answer

Page No: _?;9‘/3 0

L —

SOLUTION

MARKS

—~ | Qe b= 230vmm, S=19kN, Tmay = 313 Nt

|

1> Aveoeepe ghews stoess ('Z-wgrj

|

Cenigt = S — :i:eoxr_ef = 52174 177
U s poree " 23Box AL =
= A7 For azechrmpday sedior,
Copony = 2 "Tong im
3-,3; e 3 Vi ‘;'.2?’7}1.
A
A = 2,574  250-08 5. 2.37)
A7 313
Gy Mirnlymouyn) zt‘xzéfuué_a?f (Cim;ya}fd)f? Iniip
f?ﬂfﬁ :\//i:gimfﬂ_.. 2m
2 = 73 7
Tux = bt — 2Rox2s0.02 — Z39-58%/0 o0 =1.1¥)
12 - i3 e .
Loy = lhB . Oso din 08d° o PSEEHNS s | LT
U [.2 VBN
. 5 é 4
R e = _.]:af,a-f = 2GR:S0KI0 o)
Z/m/"n =, /J?'%”i-gox‘roé s . L AT piD. am

\/ ABoxAsoios




w02 BISjul WOl Jauueaswen Aq pejessuss)

SUMMER - 15 EXAMINATION

Subject Code: 17337 Model Answer

Page No: 2 f 2o

Q.NO SOLUTION MARKS |
O e
[ ——]
— 1 Giver, D= 400 17, ol =1Semm | = Sr2
!
- | e = s50 Npm ™= o (ZZS?‘). ==
____—-MGM")')?.C\ cw:a'a/fnéf lowed
Fo £ Ac im
1+a/be)”
A?’ea 0710 K‘a{ur‘f))ﬂ Ae = 7T (Uz‘-dlz)
= g7 g )
A — AZ748.48 o>
P nionrn Qr:r,zﬁx_.t, opP ﬁam)fﬂ?)
Yt ../Erm _JE o5 9 | AT
\/ 4 3744-4C
o R Ty,
D = [n’ﬁdf‘ - /égﬂ;l—ﬂi?.'z- = . 2GS sy,
3 J /¢
Cast—T = Both encls ci>e ‘?&'}et’cj- I
= ;- lo = b o = o By T H
[HledJive .MOM e =4 =3
- Pr= crsrax:t;::ﬂ#ééz
= (2]
1+ ks (252
™ Pa  — 4779-72 KN. 1M
A Y




wo9Bisjul wouy Jsuuesgwen Aq pajessuss)

SUMMER — 15 EXAMINATION
S“hjcc‘ Code: 17311— .« Model Answer Page No: _t_gj 30
Q.NO SOLUTION MA

Conoos

C‘*Sf‘ 1[ _One pwlﬁ;ﬁ;rpc/_aaa/ﬁf’zf foer
m[f;”c.c,ﬂwe_,_/pncf)% Le = QL & e = ZD;’%?____

Eal

3
. 75S9.45 X0

— (o= sfsvx 4 3744-46.
(;oooo) i-7
77”55
P ik 444-57 MM 4

Case~ TI- One el o V;&"xpz}ﬁf 0}7%3//3 /Unaro/

-—

Fpeoive lenath Le = L & = 259807
g =7 Tz =z

STV I
fr_= 9520.92 KN 4m
Cewer. - T - Both ends crze hingect .
Eafeive Aem(?l—;{ S s = =7/
: 4.4
— T T
P = 1514.8% HN 1)




wooBisjul wolj Jauuesgwen Ag pajesauss)

A T——.

SUMMER — 15 EXAMINATION

Mde:j7311 Model Answer Page No: 30{ 30
___?_f_o SOLUTION MARKS
P> ‘
——
G’veﬁ/ D= 25my7 |- 150022 , P=Zops) 1 - |
— £ = 2-1%15° Nhwrn™
12 Aores of mocl A= T 05 = 77 @9%
/ 4 <
<2 4 m
A = 490-87 ymm0 P L

22 Nolarrre of —od N = AXL = 430.87x/800
/
V = 736505 mmg

N =.74¢6- Zosxw 3

@’ Stzess :ﬁ’ozf Gechlendy oaa,éec/ Soacl

P :zP oS 42223 phery™ |2
4igo-37
4y Slzaln &nf=4y afozrecl
) = 5ZNN = 422-9% « 736305 4m)
HE 2x2-1%)65
U= 9619178 Ny = 2619 Ny oy Jeule 1M
S7 maoiuzua of vestlrence — M - 2619 i )
_ 7 e : Y — 36 Bo5¥/ s 6 \
— zecga.g TJoude/mS |1m |
87 ("J')cmcw 20 Zm(%r% @J—)
. ﬂ [ 22-23A(500 =477)
' 21%)0S
' 5L = 0. 873 pom 4m)




